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breakpoint: 13171929 − 13171948 kn−0 wil−2
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breakpoint: 14592520 − 14592626 ler−0 edi−0
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breakpoint: 15609747 − 15609825 ler−0 no−0
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Bp = 233 line = MAGIC.183 , Chr = 1

breakpoint: 15855291 − 15855317 rsch−4 ct−1
N = 5   Bandwidth = 0.6523

D
en

si
ty

line = MAGIC.183 , Chr = 1

breakpoint: 15855291 − 15855317 rsch−4 ct−1

F
re

qu
en

cy

−1.0 −0.8 −0.6 −0.4 −0.2 0.0

0
1

2
3

4
5



−1.5 −0.5 0.0 0.5 1.0 1.5

0.
0

0.
2

0.
4

0.
6

0.
8

Bp = 234 line = MAGIC.183 , Chr = 1
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breakpoint: 16136953 − 16136957 ws−0 tsu−0
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breakpoint: 16183496 − 16183522 hi−0 col−0
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breakpoint: 16233038 − 16233039 col−0 edi−0
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Bp = 241 line = MAGIC.183 , Chr = 1

breakpoint: 16269088 − 16269131 edi−0 mt−0
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breakpoint: 16665676 − 16665700 zu−0 tsu−0
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breakpoint: 16715699 − 16715779 po−0 ws−0
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breakpoint: 16795141 − 16795160 ler−0 sf−2
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breakpoint: 16983625 − 16983654 wil−2 no−0
N = 7   Bandwidth = 24.89
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breakpoint: 17129435 − 17129444 ct−1 wu−0
N = 4   Bandwidth = 19.85

D
en

si
ty

line = MAGIC.183 , Chr = 1

breakpoint: 17129435 − 17129444 ct−1 wu−0

F
re

qu
en

cy

0 50 100 150 200

0.
0

1.
0

2.
0

3.
0

−100 0 100 200

0.
00

0
0.

00
2

0.
00

4
0.

00
6

Bp = 258 line = MAGIC.183 , Chr = 1

breakpoint: 17325436 − 17325470 wu−0 po−0
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breakpoint: 17338420 − 17338427 po−0 sf−2
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breakpoint: 17390883 − 17390886 sf−2 wil−2
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breakpoint: 17393511 − 17393602 wil−2 ct−1
N = 3   Bandwidth = 47.98
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breakpoint: 17425014 − 17425148 ct−1 col−0
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breakpoint: 17452124 − 17452133 po−0 ler−0
N = 3   Bandwidth = 29.65
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breakpoint: 17465446 − 17465453 ler−0 sf−2
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breakpoint: 17562432 − 17562462 wu−0 tsu−0
N = 4   Bandwidth = 15.14
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N = 3   Bandwidth = 32.62
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breakpoint: 29624838 − 29624915 ler−0 can−0
N = 3   Bandwidth = 38.01

D
en

si
ty

line = MAGIC.183 , Chr = 1

breakpoint: 29624838 − 29624915 ler−0 can−0

F
re

qu
en

cy

0 50 100 150

0.
0

0.
5

1.
0

1.
5

2.
0

−100 0 100 200

0.
00

0
0.

00
2

0.
00

4
0.

00
6

Bp = 508 line = MAGIC.183 , Chr = 1

breakpoint: 29633471 − 29633638 can−0 ler−0
N = 3   Bandwidth = 37.47

D
en

si
ty

line = MAGIC.183 , Chr = 1

breakpoint: 29633471 − 29633638 can−0 ler−0

F
re

qu
en

cy

0 50 100 150

0.
0

0.
5

1.
0

1.
5

2.
0



−100 0 100 200

0.
00

0
0.

00
2

0.
00

4
Bp = 509 line = MAGIC.183 , Chr = 1

breakpoint: 29655313 − 29655329 ler−0 bur−0
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breakpoint: 146471 − 146479 rsch−4 col−0
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breakpoint: 178434 − 178445 kn−0 edi−0
N = 3   Bandwidth = 34.51
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breakpoint: 234958 − 234989 edi−0 ct−1
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breakpoint: 398959 − 398993 ler−0 sf−2
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Bp = 526 line = MAGIC.183 , Chr = 2

breakpoint: 506732 − 506733 mt−0 zu−0
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breakpoint: 715603 − 715645 rsch−4 ct−1
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breakpoint: 760214 − 760232 rsch−4 sf−2
N = 3   Bandwidth = 35.58
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breakpoint: 785958 − 785982 sf−2 ws−0
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Bp = 535 line = MAGIC.183 , Chr = 2

breakpoint: 979763 − 979775 hi−0 po−0
N = 2   Bandwidth = 42.98
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breakpoint: 1031721 − 1031730 tsu−0 zu−0
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breakpoint: 1075036 − 1075062 edi−0 zu−0
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Bp = 540 line = MAGIC.183 , Chr = 2

breakpoint: 1091918 − 1091943 zu−0 col−0
N = 7   Bandwidth = 30.2
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breakpoint: 1141543 − 1141576 edi−0 hi−0
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Bp = 544 line = MAGIC.183 , Chr = 2

breakpoint: 1168310 − 1168348 no−0 wu−0
N = 20   Bandwidth = 0.4944
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breakpoint: 1335826 − 1335835 edi−0 ler−0
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breakpoint: 1348796 − 1350316 ler−0 hi−0
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breakpoint: 1382809 − 1382885 hi−0 bur−0
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breakpoint: 1499018 − 1499241 ct−1 zu−0
N = 3   Bandwidth = 38.82
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Bp = 552 line = MAGIC.183 , Chr = 2

breakpoint: 1526925 − 1526954 zu−0 col−0
N = 10   Bandwidth = 0.5679
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breakpoint: 1595911 − 1595961 col−0 can−0
N = 4   Bandwidth = 48.36

D
en

si
ty

line = MAGIC.183 , Chr = 2

breakpoint: 1595911 − 1595961 col−0 can−0

F
re

qu
en

cy

0 50 100 150

0.
0

0.
5

1.
0

1.
5

2.
0



−100 0 50 100 200

0.
00

0
0.

00
4

0.
00

8
Bp = 555 line = MAGIC.183 , Chr = 2

breakpoint: 1681495 − 1681537 rsch−4 bur−0
N = 7   Bandwidth = 32.96
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breakpoint: 1697660 − 1697662 bur−0 hi−0
N = 5   Bandwidth = 42.01
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breakpoint: 1941424 − 1941465 hi−0 bur−0
N = 6   Bandwidth = 30.04
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breakpoint: 2529142 − 2529149 zu−0 edi−0
N = 4   Bandwidth = 16.54

D
en

si
ty

line = MAGIC.183 , Chr = 5

breakpoint: 2529142 − 2529149 zu−0 edi−0

F
re

qu
en

cy

0 50 100 150

0.
0

1.
0

2.
0

3.
0



−100 0 50 100 200

0.
00

0
0.

00
2

0.
00

4
Bp = 1471 line = MAGIC.183 , Chr = 5

breakpoint: 3095573 − 3095605 no−0 bur−0
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Bp = 1472 line = MAGIC.183 , Chr = 5

breakpoint: 3118369 − 3118522 bur−0 col−0
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breakpoint: 4578542 − 4578569 can−0 edi−0
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breakpoint: 18409259 − 18409277 col−0 hi−0
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breakpoint: 18644249 − 18644274 hi−0 col−0
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breakpoint: 18697755 − 18697827 wil−2 edi−0
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breakpoint: 19272147 − 19272233 wil−2 zu−0
N = 3   Bandwidth = 33.7

D
en

si
ty

line = MAGIC.183 , Chr = 5

breakpoint: 19272147 − 19272233 wil−2 zu−0

F
re

qu
en

cy

0 50 100 150

0.
0

0.
5

1.
0

1.
5

2.
0



−100 0 100 200

0.
00

0
0.

00
2

0.
00

4
0.

00
6

Bp = 1737 line = MAGIC.183 , Chr = 5

breakpoint: 19355176 − 19355188 zu−0 edi−0
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breakpoint: 19540858 − 19540892 edi−0 col−0
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Bp = 1743 line = MAGIC.183 , Chr = 5

breakpoint: 19676697 − 19676706 mt−0 no−0
N = 5   Bandwidth = 40.55
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